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INF 1 AEAE DE
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No. K % (E (G

1 oK kg
2 HooX kg
3 HooX kg
4 B X kg
5 B X kg
6 B X kg
7 Bk kg
8 Bk kg
9 HooX kg
10 HooX kg
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INF 2 A DFE
i

No. K % (E (G

1 oK kg
2 HooX kg
3 HooX kg
4 B X kg
5 B X kg
6 B X kg
7 Bk kg
8 Bk kg
9 HooX kg
10 HooX kg




577 B B AR — v KE [EsH ]

INF 3 A DFES
i

No. K % (E (G

1 oK kg
2 HooX kg
3 HooX kg
4 B X kg
5 B X kg
6 B X kg
7 Bk kg
8 Bk kg
9 HooX kg
10 HooX kg
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INF 4 A DFE
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No. K % (E (G

1 oK kg
2 HooX kg
3 HooX kg
4 B X kg
5 B X kg
6 B X kg
7 Bk kg
8 Bk kg
9 HooX kg
10 HooX kg
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No. K % (E (G

1 oK kg
2 HooX kg
3 HooX kg
4 B X kg
5 B X kg
6 B X kg
7 Bk kg
8 Bk kg
9 HooX kg
10 HooX kg
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No. K % (E (G

1 oK kg
2 HooX kg
3 HooX kg
4 B X kg
5 B X kg
6 B X kg
7 Bk kg
8 Bk kg
9 HooX kg
10 HooX kg
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No. K £ e & =

1 ke
2 ke
3 kg
4 kg
5 kg
6 ke
7 ke
8 kg
9 kg
10 ke
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1 kg
2 kg
3 kg
4 ke
5 ke
6 ke
7 ke
8 ke
9 ke
10 kg
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No. K 4 BT | fFle | A E

1 ke
2 ke
3 kg
4 kg
5 kg
6 ke
7 ke
8 kg
9 kg
10 ke
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No. K 4 T fk H&#
1 kg
2 ke
3 ke
4 ke
5 ke
6 ke
7 ke
8 ke
9 ke
10 kg
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No. K 4 T fk H&#

1 kg
2 ke
3 ke
4 ke
5 ke
6 ke
7 ke
8 ke
9 ke
10 kg
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No. K % BT | 4l |tk E

1 kg
2 kg
3 kg
4 ke
5 ke
6 ke
7 ke
8 ke
9 kg
10 kg







